(BmE (HXER) ) XSy ITEHE

(30mmH) 1
(32mmA) 2
PVinEf# X EE 1 _ (WEES1—ILES) (35mm#A) 3
(40mmfH) 4
(46mmH) 5
PVIFX£E I (L=100) 6
hfEEs/ PVHZ R
PVIFX £ E1V(L=100) 7
(\FYZw ORHITAH) PAIRZ £E(HITH) 8
ANATLZRILE (2ILN-) 9
NAETLANILE (BF) 10
B4t ERAA REEZL— 1.6t 11
PVFEITL— b 12
IRV 7 —R 1 13




A Gl £A8 FTIEREE Z4

50

21

50

28.5

/
100

ZIED: 188 FF

7
NN
§

N

29.5
33

(17.34)
ﬁ
4
N

32 0.5
40 9
1 49
e A6063S-T5 BAfT mm = 2017.3.27 (K@ PVisiRiEZ £ B 1 Bk RE
(JIS H 4100) e BE &R (30mmA) A50356-0 11

tE BEBLEEESRE

F999) osoe | |HEPE am st N O

Bo
BH




i

":n_‘l

£AH

HNEGES Z4
0
495
205
o
[Te]
28.5
29
\% o
o
b= A3
ZIED : 1 R
19
3
a a
N m
SZH I Y
| ©v
. =&
> \’55 @
)
- S ~
0.5
32 9
40
49
HE g |4 2016.1.16 |HE# Pvitsimz £ ET |BE RE
A6063S-T5 — : _
] HE %2 (32mm ) A50319-0 i
tE GBI BB A EIE o : = |
= i3 f;T FEE DB0146 ||_H4% w0 ogos -
(Touh) s SLF-NIF | O




A| @% | &AA TERE 27
2
49
20
o
0
285
\
% o
S
ZIED: 18
19
3
(@i (@
N > m
% N
_ 3
b — Ly}
<r
o ™
o A2 /}?
N
~ Z
05
32
40 9
HE B mm = 2014.2.14 |H@E% PVIGERRZ £ B I RE RE
A6063S-T5 g A50111-2
£y "R &R (35mmfa) 1/1
#HE & B GmERL IR RE
DBO131 BK DAIDDHANT.CO.LID. &

(FTZv9)

A3



A| @% | #AA RS 2%
2
49
20
o
©0
285
\
% o
S
ZIED 1 &Ffr
19
3
(@i (@'
N ~ VZZZ»
o o~
_ 3
L
T/ &
o \35 %
N
<r
05
32
40 9
HE B %= 2014.2.14 |H&E% PVInEf iz € BT & RE
AB063S-T5 g A50113-2
E ®E &R (40mmAA) 1/1
ftt EBEEERE R IR BE
DB0132.BK DAIDOHANT.CO.LID. &

(FTZv9)

A3



A ERR £AH FTIEREE

49

20

/r

50

28.5

B
=
100

ZIED 1R~

19

leo

45.5

S ~ A | 17
0.5
32
40 9
i Bam | 2014.2.14 |R&E# pvisinimz B  |EE R
AB063S-TS ] i & (46mmfA) A50156-2 1/1
HE R R .,un
e § DBO134 | DAIDDHANT.CO.LID. &}
(F59%)




A ERF £A8

FTIERE Z4
0
100
50
- )
5 28.5
- |
SO 22 |
* X
10 7 7
o & .
o | a %
- ? ? ‘
’ l,
/mny |
5 28.5
4
/
ME BA{E mm ER 2014.4.25 &4 _ & RE
AB6063S-T5 g PVIEZ£E T =100 A50109-0
=X BE AR 1/1
tE  BRBERILERE P,
Do DB0130 BK DAIDOHANT.CO.LID. &



A3

Z4

LE

TIE

£AH

o2

£l

0S

100

’777777777777777777747777777777777777777’

o §Le

Gve

RE
1/1

A50231-0

X

||—H=E& DAIDDHANT.CO.LID. | @

~

mk

(L=100)

PVIRZ &

&4

&

DB0172

2

2015.4.27

FX
BE

EA{s7 mm

16
‘ Qﬁ(

28.5

14

A6063S-T5

HE

BIBEL ZERERIR

tE

(F3v9)




A Gz F£AH ETERE Z4%
0
8.5 27
I S W I (],
— 1 ™
63 27
13
[oe]
;
[{p)
\J — - Q
********* L | ~
\/ —~ g ]: -
v_
3]
7 40 7 25
54 25
ME SUS304-t2.5 B4 mn = 2015.3.17 |H&E# _ =& RE
= o= 2 PAFZER A50273-0
#7113 NSSC180-125 | RE = %2 I
tHt X &
INUIVBREEHE £ DBO181 | DAIDDHANT.CO.LTD.  |&—}

A3


SPTEAM1
タイプライターテキスト

SPTEAM1
タイプライターテキスト

SPTEAM1
長方形

SPTEAM1
長方形

SPTEAM1
長方形


N #AA STERS £%
INREEIE 1.6 M8 P=1.25
“ 9.5 L
LF3& TR
M8 X 20 20 DB9012-SV
M8 X 35 35 DB9015-SV
M8 X 60 60 DB9014-SV
M8 x 70 70 DB9013-SV
M8 X 75 715 DB9006-SV
M8 X 80 80 DB9005-SV
M8 X 85 85 DB9004-SV
HE B mn 1R 2015.11.17 |RE% NATLRRILE H% RE
JIS G 4303 SUS304 — - A50065-0
ETley et #BE &3 M8 x 20-35-60+70+75-80-85 1/1
e 1 A—MILIE e i | mE |*T FRICEE "—H‘E& DAIDDHANT.COLID. | &=+

A3




A Elzi FAH FTERE EZ4
INRER2F 1.6 M8 P=1.25
n 9.5
L~ti& LS

M8 X 50 o0 DB9052-BK

M8 X 60 60 DB9014-BK

M8 X 70 70 DB9013-BK

M8 X 75 715 DB9006-BK

M8 X 80 80 DB9005-BK

M8 X 85 89 DB9004-BK
HE SUS304 BEAT mm T’El:Z 202_2.05.30 HEEZ RELLARILNERD) |BE A500642 RE

#E BEt ®E AR M8 x 50-60-70+-75-80-85 1/1

e B - LRI ’\‘>/7\ DAIDDHANT.COLTD. | & —}

A3



A E5l3i £HAA iTEREE Z4
1
1.6
g |
R4.5
\ B
o
©
L]
<
™
N | |
19.5 9 195
48
| |
#a . e BAGT mm = 2020.09.15 K@% [BIE] RE
S BARMD =R 0@ BE — ;I:Bﬁjl/—lq.ﬁ A50457-1 11
= RERoF i ©=
EMEaRH-> = DB0220 "—H:E& o -
=i B I1F-/(F

A3



INECE #RH STERS 24
1
44
22
o
\ M8&w T
L ‘ ™
23 | N S S
HE e B | #E 2014.6.3 |E&E% 3 RE
=i B A > E ik — - PVFERTL—bk A50014-1
e B BRE AR 1/1
ttE St RARHOE N . - BB
- . 23 T fif] = DBO0103
B BT DAIDOHANT.CO.LID. O}

A3



A Ekz F£HA STERESE
0
EffZ 1L & ¥ [E] k00 T
45 39 45
6.5 35 / 6.5 8 . 04
. 7
-
el ] e i
(9]
Ik
e/ e £
=1 () R | i
B LRE ; §%\ | ow
,7,j, Lt g 8 +
IN—Y) 2% (8EFT) Te NI 2y
M FRE $ DS i
S J: MR )
- — - —
R N N P
19.75 8.5
48
|
,,,,,,, BB
\h | .
T ! o
ME SUS304-t0.4 B4 mm = 2015.12.11 |HE# i =& RE
(JIS G 4305) - B AR NHRVHET—RI A50298-0 1/1
e
== /N N =] Eﬁﬁ
- ma | e oe | HF weemn srE o O




	
	シートとビュー
	モデル
	V0






